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Caodigo do programa

3= syms k ml m2 s;
2
Bl B=[0 01 0; 00O01l; -kfml k/fmZ 0 O0; k/m2 -k/m2 O 0];
4= B=[0 0; 0 0; 1/ml 0;0 1/m2];
5= C=[1 000y 000 1]:
6
7 - G=C*inv(s*eye (4,4)-4)
g
= PolosZTsolve (2%k"2%m2 - 2*ml*k"2 + k*m2"°2%3"2 + 2'"ml*k*m2*s"2 + ml*m2"2%3"4=—0})
10
L = autovalores=eig (&)
Resultados
Polos =
-(-(2*k*m] + k'm2 + k*(12*ml"Z2 - 4*ml*m2 + m2°2)"(1/2))/(2*ml*m2) )" (1/2)
-{-(2*k*m] 4+ k*m2 - k*(12*ml"Z2 - 4*ml*m2 + m2°2)"(1/2))/ (2*ml*m2)) "~ {1/2)
(—-(2*k*m]l + k*m2 + k*{12*ml"2 - 4*ml*m2 + m2"2)"~(1/2))/ (2*ml*m2) )~ (1/2)
(-(2*k*m]l + k¥'mZ2 - k*({12"ml"2 - 4*ml*m2 + m2"2)"(1/2})}/(2*"ml*m2} )}~ (1/2)
autovalores =
={-({k*ml + E*m2 + kE*({5"ml"2 - 2'ml*m2 + m2*2)"(1/2))}/(2*ml*m2))}"(1/2)
—{—-(k*ml + E*m2 - kE*({5"ml"2 - 2*ml*m2 4+ m2"2)"(1/2))/(2*ml*m2))}"(1/2)
(- (k*ml + k*m2 + k*(5*ml*2 - Z2*ml*m2 + m2°2)~(1/2))/(2*ml*m2))>(1/2)
(- (k*ml + k*m2 - k*(5*ml"2 - 2*"ml*m2 + m2°2)}"(1/2))/(2*ml*m2})"(1/2)






